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(glucose + oxygen — water + carbon dioxide + energy)




1. What is an autotroph?








2. What is a heterotroph?








3. What is the main form of chemical energy for organisms?





4. How do cells release energy?








5. What is photosynthesis?








6. What type of sugar is created?





7. Where do plants obtain CO2?





8. What part of a plant traps the energy of the sun?





9. What 3 factors affect the rate of photosynthesis? 








10. What is cellular respiration?








11. How many molecules of ATP are released in respiration?








Originally, the energy in most foods comes from the sun. Plants and some other types of organisms are able to use light energy from the sun to produce food. Organisms such as plants, which make their own food, are called autotrophs. Other organisms, like animals, cannot use the sun’s energy directly. These organisms, known as heterotrophs, obtain energy from the food they consume. Deer for example eat grass. The deer are heterotrophs because they eat grass to obtain energy. The grass is an autotroph because it uses the sun’s energy to make food.


Living things use chemical energy. The main form of chemical energy for living things is adenosine triphosphate (ATP).  ATP is able to store and release energy. By breaking the bonds in ATP, cells are able to release the energy of ATP.


In the process of photosynthesis, plants use the energy of sunlight to convert water and carbon dioxide into high energy carbohydrates and oxygen. The type of carbohydrate (or sugar) that photosynthesis creates is generally in the form of C6H12O6, or glucose. Plants then use the sugars to produce high energy carbohydrates like starches. Plants obtain carbon dioxide from the air or water in which they grow. Photosynthesis requires light. The chloroplasts are the part of the plant that traps the energy of the sun. 


Many factors affect the rate at which photosynthesis occurs. Because water is one of the raw materials of photosynthesis, a shortage of water can slow or even stop photosynthesis. Temperature is also a factor. Photosynthesis depends on enzymes that function best between 0 C and 35 C. The intensity of light also affects the rate at which photosynthesis occurs. Increasing the intensity of light increases the rate of photosynthesis. 


Cellular respiration is the process that releases energy by breaking down glucose and other food molecules in the presence of oxygen. For every molecule of glucose that is broken down the cell makes 28-36 ATP molecules. Cellular respiration takes place in the mitochondria.


Photosynthesis Equation:


� INCLUDEPICTURE "http://chemwiki.ucdavis.edu/@api/deki/files/7191/=800px-Photosynthesis_equation.svg.png" \* MERGEFORMATINET ���


Cellular Respiration Equation: � INCLUDEPICTURE "http://t0.gstatic.com/images?q=tbn:ANd9GcRf5MQRE1xTmjzOI1ljUV13FN6dtwbJpsn9wvvzygJACsE5aWQcWLsgRO7J" \* MERGEFORMATINET ���
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